Wath
Children

Name: Class:

Place value

Determine the place value of the underlined digit.

1. 872= 2, § —
3. 5é= 4, 8,30§=

5. 27 — 6. 6,127 —

" 1,748 = > 800 =
9, 920 — 10. 369 =




Name: Claoss:

Place value

Determine the place value of the underlined digit.

" 879 =9 ones > 8 =8 ones
> 56 =6 ones * 8,305 =5 ones
> 97 =9 tens > 6,197 = 9 tens

" 1,748 =7 hundreds ° 800 =0 tens

> 920 =2 tens 369 =9 ones
" 6 =6 ones '> 86 = 8 tens
" 358 = 5 tens ' 765 = 6 tens

959 =9 hundreds ™ 6,091 =9 tens
3,197 =1hundred " 484 =4 hundreds

182 =1 hundred * 96 =9 tens

21.

4 =4 ones * 58 = 8 ones

* 74 = 4 ones * 2 573 =2 thousands




